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Financial Data (efficiency and Soundness) BBF—9 s z2n)

Consolidated J#f& *The raw data of non-consolidated can be downloaded from Tokyo Gas website.
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?_g‘}‘vsl For the years ended March 31 3H31BIC# T UIz15E/H 2010 2011
L2 CONSOLIDATED i
Total Assets (¥ million) WEEMEAM) 1,840,972 1,829,661
ROA (Return on Assets) (%) ROAREEFIZEE) (%) 2.98 5.20
Equity (¥ million) BeEAREAM) 813,886 858,920
ROE (Return on Equity) (%) ROE(EHSEAFIEHE) (%) 6.78 11.41
Interest-bearing Debt (¥ million) BHFaEES(EBM) 555,919 584,169
Net Interest-bearing Debt (¥ million) v hEHFAEERS(BEAM) 448,523 493,867
Fund-raising Expenses (¥ million) ERERERA) 10,303 9,689
Total Asset Turnover (times) B FEDERR () 0.79 0.84
Equity Ratio (%) BOEARLE(%) 44.21 46.94
Current Ratio (%) SREILEER (%) 120.93 142.26
D/E (Debt-Equity) Ratio (times) TYNTIOAT1-LIA(5) 0.68 0.68
Interest Coverage Ratio (times) AVIVRNANLY T -LIF () 27.3 16.4
Interest Payment Ratio (%) BEHFR(%) 1.79 1.70
TEP (¥100 million) TEP(f&M) 186 640
WACC (%) WACC(%) 3.2 &8

Net Interest-bearing Debt = Interest-bearing Debt — Cash and Deposits
Fund-raising Expenses = Interest Expenses + Interest on Bonds + Amortization
of Bond Issuance Cost

Total Asset Turnover = Net Sales / Total Assets (average)

Equity Ratio = Equity (year-end) / Total Assets (year-end) x 100
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ROE & ROA (%)

Interest-bearing Debt (¥ billion)
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Current Ratio (%)
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Interest Coverage Ratio (times)

TRENEEZE (%) 1IIVRN - ANLYI-LIF(R)
180 30
120 20
60 10
0 0
10 '11 ’12 13 ’14 ’15 16 ’17 ’18 '19 10 11 12 13 14 15 16 17 18 '19

2012 2013 2014 2015 2016 2017 2018 2019

1,863,885 1,992,403 2,176,816 2,257,662 2,251,518 2,230,269 2,334,316 2,428,149

2.49 5.27 5.20 432 4.96 2.37 3.29 3.55

839,166 927,634 1,011,787 1,069,515 1,100,271 1,101,498 1,136,027 1,159,055

5.42 11.51 11.18 9.21 10.32 4.83 6.70 7.37

625,830 642,550 713,823 730,739 715,769 713,596 724,940 803,216

545,681 561,881 640,844 644,246 545,507 580,970 596,609 710,124

10,184 11,366 12,313 12,659 12,158 11,514 11,619 11,091

0.95 0.99 1.01 1.03 0.84 0.71 0.78 0.82

45.02 46.56 46.48 47.37 48.87 49.39 48.67 47.73

156.89 162.16 156.67 150.63 155.48 142.69 135.59 156.01

0.75 0.69 0.71 0.68 0.65 0.65 0.64 0.69

14.6 19.4 20.1 17.6 28.3 20.7 22,6 13.1

1.68 1.79 1.82 1.75 1.68 1.61 1.62 1.45

91 598 507 434 676 -62 244 68

3.1 3.2 3.2 3.6 3.4 3.0 3.1 3.0

Current Ratio = Current Assets (year-end) / Current Liabilities (year-end) x 100
Debt-Equity Ratio = Interest-bearing Debt (year-end) / Equity (year-end)

Interest Coverage Ratio = Operating Cash Flows / Interests Expenses

Interest Payment Ratio = (Interest Expenses + Interest on Bonds) / Interest-bearing

Debt (average) x 100

TRENLLER = RENAE () + REEM R) X100

D/E LA =FRFAREER) - BCEREKR)

AVILAN-ANLY T LA =BERICLDFv v 1- 70— FEXIE
BfEFITFE= LB+ HERR) + BRI FaMEhFI) x 100

TEP=H51%& - FILFIRE - BAIX ~(BRFREIX S +HEEFIX L)

TEP = After-tax & pre-interest-payment profit — capital cost (cost of interest-bearing

debt +shareholder capital cost)
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